114.2.6

BoRTEAIBEERS 2EDFER

p ¥y

5 3

=42

114# 1% 13p~2" 16

F B R (1/27-1/31 % $id ) o

P
| | = BRE AP
1 13 - |FER4p
1 | 2731 | --1 |[F9dikE-
2 14-21 T~7 %= FEHFR (TEFEE)
o | 4 | 7 | MEERFTGRILEFa E(F AR
B B3 R FATL)
2 15 = FAL T 4 4R A
/6
2/17 3/17 o ‘%}; / qpvé/E’E]F%J— EI/E‘:]F%— ?{%% 2
Kéﬂz v
2 17 - 113-2 B8 p ~zxp ~ &5V F ik
C Flxiniif e
2 18 - %v"‘l,«,J i+ € 3k
2/24 3/3 - ~= ?}?‘ifksfp%(‘l‘m{’sfpﬁc)
_ ERIEE R fwﬁ R
2 25 - X ?g R~ g
2 28 I feT e &P (- %)
9 A _ ?ﬁ‘f‘}%’é&(é&ﬁ P EFFE AT AgAxp A B
T RN AT RBRREIGBUEL A 4RI HED ER)
3 11 S| R o LB RPIS S R (SR ) RIk)
3/15| 4/15 - ~= 3/15@’7%‘3%%‘35@ Bl
3 1829 | z-—= |xw B? HvEY
3 18 iy X 2 FLBBRR RIS S R (R ARl )
3 19-24 | z—— |14 B ER P HRE S DA E XL RARILFES F
3 25 R EHEEEA Gy AP EY RS mER
B Bz ’i&g +?I‘Jcbk’ﬂ ¥ B gk A301)
_ ¥ 2 iBER
3% | 2 |¥2xkigm
3| 28 | 1 |PErwHBOOY
3/24 4/2 - R#FLF/RFKEEZLRTFAY
3/24 | 4/18 --7 |[FFEY
4 1 - %?/fh'/ﬁ’i( ﬁl—‘%‘ DAk ;‘XE’I%‘;?&%?%%%’JF’FF HE L m R
B s Bk # k)
4 36 | m~p |4/3-4 523 &2 A CEHLH
4 7-11 -~ |HpPFE




114.2.6

i» p 5 2y [k 2
4 14~18 | - ~7 |8 2 I9F % T
4 15 - RIS 2 =
A2 B ER R - pain)
4 21 L EEER YGRS € S
4 21~25 | - ~1 [3Fx R B
_ E3 1 N S =
4 22 — u—. _',. g 2 :i 5}, R ‘,—‘g ;i
4 23 = -'Ivf%réﬁé‘ﬁ%ﬁa(%‘)
5 1-25 r~p |FoFEgRY 5
5 | 516 | -~7 [FEEE
T |(BEF & 56(2) FkkP T = 3:40-5:30 FL & BER)
F 1k HT 6 R
5 6 - FEwE
L2 BRI L TG (4 - g
5 13 e i S ICE AR s
- X" %7 EEk: A301)
5 15 7 SEWE 2
5 16 T S FHI-B A Y rdp LT P G
¥ 4 = ,: 22~§ E )
5 20 - |¥3=% ,, #4240 ¢
RN RS - B
N 2 ?#J';—l A8
5 24 > R
5 29-31 | w-= ﬁ (524 B £ 0 4 ~ 8 G2 5§ R)
6 1-25 P-= PP EaEr 3
6 2-6 - ~7 BRI
6 9-13 -~7 B2 % - ZE R (FEHx)
6 9-20 - ~7 [EMKE RHKFREAFFEEY EHE L
6 10 = ¥ 5=k ix €3k
6 15 po114 & &?&éﬁ?%&%éﬁ
6 21 > 2025 % N E IR EF 2 KT WML
6 23 - 2B A
6 29 p FEFFAILF 4 R o
9 8 - 148 e 5 1EF2REEp




